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Simultaneous Equations Overview
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@ Representing economic relationships using multiple equations
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@ Endogeneity problem if estimate equations on their own )
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Simultaneous Equations Practice  |lotatiy, Z@»M;L}L

Chapter 16 Problem 1 Ervor ; VIS

If g # 0,0 # 0, and a3 # a2, find reduced form for y; and y»
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Simultaneous Equations Practice
Chapter 16 Problem 3

In Problem 3 of Chapter 3, we estimated an equation to test for a 9. ok worky
tradeoff between minutes per week spent sleeping (sleep) and 2o vaVS/ [90‘)"
minutes per week spent working (tot wrk) for a random sample of
¢+ data
individuals. We also included education and age in the equation. Aor w_ 0\
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Simultaneous Equations Practice
Chapter 16 Problem 4

Assume education and price are exogenous. Which equations are
identified?

log(earnings) = Bo + [1alcohol + Breduc + uy (1)
alcohol = ~y + ~1log(earnings) + y2educ + ~y3log(price) + uy (2)
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Simultaneous Equations Practice iEya;:;_,,%Ll%&
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Which equations are identified?
y1 =00+ a1y2 + azys + a3z1 + auzo + (1)
y2 = Po+ fiyr + B2za + w2 (2)
Y3 =" t+721+ 7223 + u3 (3)
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Simultaneous Equations Practice iEX"ﬁ"%\,%L,Eg.%m %
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Which equations are identified? 7 gy s 34

Y1 = a1y, + ay3 + a3z + Uy (1)
Y2 = Qo1y1 + 220 + 323 + U (2)
y3 = a31)2 + a3ya + 3321 + Q3420 + 3522 + 3626 + U3 (3)

Ya = Qu1y3 + upz1 + ug (4)
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